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Instructions for the candidates :

1. e qureNd 91 =1 7 8 IR |

Candidates are required to give their answers in their own words as far as
practicable.

et Ak el | R g siF qile Fiffe & &1

Figures in the right hand margin indicate full marks.

N

3. mmﬂmqﬁﬁma‘rﬁq 15 Pre @1 sffe wa R mar &1

15 minutes of extra time have been allotted for the candidates to read the questions
carefully.

4. ¢ AT 3 GUST A & — WVE-I (F GU-F/
This question paper is divided into two sections — Section-4 and Section-B.
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in Sectlon-A, there are 60 objective type questions, out of which any S0 questions

are to be answered. First 50 answers will be evaluated by the computer in case

more than 50 questions are answered. Each question carmies 1 mark. Darken the
circle with blue / black ball pen against the correct option on OMR Answer sheet
provided to you. Do not use whitener / Uiquid / blade / nail etc. on OMR-shcet,

otherwise the resu It will be invalid.

TUS-T 2799 s wyw & Forri @ f 15 W1 &7 I 30 dfAard #
Hriiaim%fﬁvzaiarﬁmfﬁ?ié‘rmmﬁﬁﬁ: 3 Gus 8 3 Iwvie v [E
TR & fd & et 41 FT IAT 37 #1 9w gV & v s dF Pt &

In Section-B, there are 27 short answer type questions, out of which any

IS questions are to be answered. Each question carries 2 marks. Apart from this,
there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carries 5 marks.

7. [ SR ¥ SEARIAE IYHT T AT qiear af &

Use of any electronic appliances is strictly prohibited.
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TVE - A / SECTION- A
mﬁﬂm / Objoctive Type Quostions
"¥T WEr 17 60 aw & WA & vy arv fwew Ry ww & frd @ o wdt & Rt

50 7T & gav ara? gRT Y7 7Y W frwew w OMR VilZ v fefgna w1

50x1=50

Question Nos. 1 to 60 have four options, out of which only one is correct. Answer any
SO questions, You have to mark your selected option on the OMR-Sheet. 50x1=50

. Garcm?® &ARE Al g &1 A4 &

(A) 15 cm (B) 16 cm
(C) 20 cm (D) 17 cm
The diameter of a circle with area 64 cm? is
(A) 15 cm (B) 16 cm
(C) 20cm (D) 17 cm
2. P aper @ APOR T fem ¥ & /D = ,Q aW 4R = ¢k @t Frfefaa F ]
HIH-HI TEl & 2
A LF = 4P (B) LF = £Q
(C) «£D=4LP (D) <£E=4LP

In ADEF and APOR. it is given that #D = Z/Q and £R = Z/E ; then which of the

following is truc ?

(A) LF=ZP (B) <£F=ZQ
(C) £D=2P (D) ZE=/P
3. W’ﬁ‘aﬁmzj’qﬂx+3y:5 Gl 4r+6y:]5$1%
) g g (B) 3 &
G} His e T (D) ¥ | FHE T

The pair of equations 2x+3y =S and 4x+6y =15 have

(A)  unique solution - (B} infinitely many solutions
(C)  no solution (D) none of these
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4 u‘ﬁ:"'f’""*"*“Il‘]‘!]u:ﬂl?ﬂ:\(151'11--'-ll':r”.’i3""*’:}*-;1’{"“’mmmk
(A} m 2
[y a o 4
THCF of 5 and 117 is in the form of 65 m - 117 then the value of m is
Al B) 2
)y 2 D) 4
2,10 ¥R 20 & Sosto AR "owo = m?
10 B 10:1
< 4 D)y 11:1
The ratio of the LCM and HCF of 2, 10 and 20 is
{A) 110 (B) 10:1
€ 4.3 (D) 11:1

6 ﬁwswﬁﬁﬂz,wbmmhﬁ,ﬁmﬁmi

(Al Ibh B |2 +b2+n?
(Cy  2bk (D)  2(lb+bh +!h)

If the length of a cuboid is 1, width b and height h, then the volume of the
cuboid is

(A) bk (B) J:’ +b2+n?

€y 2ibk (D) 2(1b + bh + lh)

~i

wnl0®tinl5%1an75%tanB80° =7

A V3 B -k
c -1 D) 1
3 fr=fataa 8 @ &=-ar o adie § 2

(A) 2y =3xs=(x+1) B) x*-2/x+3=0

@ 3x7+2=3-x7+4 O«
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Which of the following is a quadratic cquation ?

A 2x}-3x=(xs+1)? B) x*-2/x+3=0
(C) 3x242=(3-x72+4 o x?-Log
x)
Y UF d64 HR TS WF & IR §wE &) ARk I Fund ) wem @, @ H=e
AT T 9T &
(A} 1:2 B) 2:3
C) 3:2 oy 3:1

The bases of a cylinder and a conc are same. If their heights are also same, then

the ratio of their volumes will be

(A) 1:2 (B) 2:3
() 3:2 (D) 3:1
10. 38 W fa A fw fagat A(-1,0) AR B(5,0) A 9 T4 WE, &
(A)  (0,2) 4By (2,0)
€ (3,0) (D) (0,3)
The point-on x-axis which is equidistant from points A(-1,0) and B(S,0) is
(A)  (0,2) (B (2,0)
(€ 1(3.0) (D) (0,3)
11, -10,-6,-2,2, ..., 34 &1 & §LAE
(A) 15 _iB) 12 )
(C) 13 (D) 14
The number of terms in -10,-6,-2,2, ..., 34 is
(A) - 15 B 12
() 13 (D) 14
12, % (6,-5) N oFATE R
18y 6 B) -5
(C) -6 15) B
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The x-coordinate of the point (6, - 5 ) is

(A) 6 B) =5
€ -6 D)y S
13. TR &g x(2x - 5)- 3 % v w1 am
2 5
W3 B -3
-3 5
The sum of the zeros of the quadratic polynomial x(2x-5)-3 is
2 5
(A) 5 B -3
3 5
() == S
bo-3 O 3
14, 14243+ . +nTRE
A n+1 nin+1)(n+2)
(A) > (B) 3
nin+1) -1
©) > o ol
1+2+3+..+nisequal to _
A) . n;l B) n[n+l:)!{n+2]
/7 n(n+1) nin-1)
& = o =5
15, Fefeiaa § § $7 9gR § 2
3 1
(A)  x®-5x+4Jx+3 (B) x2-x+x2+1
€ Jx +71;- D)  V2x2-3J3x+V6
Which of the following is a plynomial ?
3 1
(A)  x%-5x+4Jx+3 B) x2-x+x2+1
€ Jx+ 71: O V3x2-3{3x+6
[ 110 ] G |[5010-G a7 Page 6 of 24




16, 12m $ GV & T T 0g W@ o/ A o 4y3 m ¥ gd I B

Ay 60° (B)  45°

(€) 30° (D)  90°

The length of the shadow of a 12 m high pillar falling on land is 4y3 m. The
angle of elevation of the sun is

(A)  60° (B) 45°

(C) 30° ' (D) 90°

17.  AABC U& GHa faat & foramd £,c= 00° 8 @ cos(A+B) F AR &

@ o | B 1

B3

(C) >

1
3 (D)

AABC is a right angled triangle in which ZC = 90°. The value of cos(A + B) is

(A) 0 B 1
. 1 J3
© 5 o) 5
8. famgai(2,3)w@ (-2, 3)Fda= e
A 3 By 4
(€ 5 D). 6
Distance between the points (2,3 )and (-2,3) is
(A) 3 B) 4
) S (D) 6

19. U 9o Y1 WE & AWK F T 3 ;4 F FIW F § T ITH FARI 2:3F
U # €1 deF & ! H A ¢
";a?\/a:‘; ' ® 9:8
C 8:9 (D) 4:3




The radii of the bases of a cylinder and a cone are in the ratio 3 : 4. Il they haye

their heights in the ratio 2 : 3, the ratio of their volumes is

(A) 3.4 (B) 9:8
(C) 8:9 (D) 4:3
0. 334, 17 T x W WG 6 R, @ x FUA L
{a) 1 B) 2
C) 3 (D) 4
If the menn of 3, 4, 5, 17 and x 18 6, then the value of x is
(A) 1 B) 2
C) 3 D) 4
21 3.4,7,2,7,6,7, 9 &1 Tgomn 3
(A) 2 (B)
cy 7 . (D)
Mode of 3, 4, 7, 2, 7, 6,7,9is
2 (B)
<y 7 (D)
22, 13 ¥R 19 & 919 WHER ang §
(A) 13 B) 16
C) 19 (D) 12
Airthmetic Mcan between 13 and 19 is
(A) 13 (B) 16
(C) 19 D) 12

23. AR UR W X2 - px+4=0 F G WR A Al p= 2

(A) +3 By 4
C) - +5 D) t2
If the roots of a quadratic equation x? - px+4 =0 are equal then p =?
(A) +3 B 4
(C) ¢S (D) +£2
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24wt o Mt b 1T wed R, W aiT ) W o b

(A} a m »
(€) ab (D) g
Il a and b are prime numbers then LCM of a and b is
Al a B b
&y ab (D) %
23, hﬂ[_\‘_‘u]‘aqﬁqﬂhﬁﬂt
A YAty B Yxiey?
© af-y? D) x¥?

Distance of the point ( x, y) from the origin is

(A) x? - _1,12 (B) J x4+ y’

© x?-y? . D) x%?
26. Trafefaa F | w7 s den d 7
&) 15 - B 23
€ 12 O) 75
Which of the following is a prime number ?
A) 15 B 23
€ 12 D) 75
27.  (1+1an0+sec0)(l+cotl - cosecB)=?
Ay -1 (B)
iy 1 o) 2
28, af U A @) Ry 20 @ W 4x W E T, A I QG A0
(A) B 3
(€ d@aTA : (D) R
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- , en will be
 the circumference of a circle is increased from 2n to 448, it ar

(A)  halr (B)  two times
(€} three times (D)  four times
29 P A v fag % Fromrs a9
W () ® (0,0
€ (-1.1) .r(n) vl Qi

Which of the
(A} (1,1
€ (-1,1)

following is the co-ordinate of the origin ?

By (0,0)
(D) None of these
30 x=-SH @ I wre g o

(A) 3™ F O (B) 38 & TR

© T fog @ ot g (D) 31 @ F13 7@
What type of straight line will the gruph of x = - S be ?
(A} parallel to x-axis (B)  parallel to y-axis
(C)  passing through the origin (D)  none of these
31.  sin(90°-0)=
(A)  sin0 : (B) -sin0d
G} ~ cos0 (D) -cos0
32.  TrfefEd d @ & ool g )
A} 2-43 B 5
2/3
23 D) V6
& B (D)
Which of the following is a rational number ?
A 2-43 B 5
2J/3
c 3 D V6
(€) /3
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33

M

JS.

qfz secl = -:-'-‘;-n » cot() ST §

S S
(A) 12 (B) 3

12 13
lfwn-%%,thtnmmhmalm

5
(A) 73 m l%
. 12 13
{ = o
1) ., 14} 3
fagan Ay 4) ¥ g n:r‘:mﬂqﬂ}mtm:‘t{tml’
(Al (0,12} Mm (6.0) .
€ 16, 4) o 106 ©

The co-ordinates of the mad gvant of the e wrpment josning the points AQ, 4)
and (-} R i

N (0, 12) M (6,0)
) (6,-4) f  (0,6)

forh yw ot o ey @ ek w7 et it m e } )

JA m 2

< 3 iy 4

How many tangents can be drown from an external point on a circle ?

(A) ! ®m 2

< 3 iy 4

Man6d”

con27*

VA -

< 2 > 3
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38.

39.

40.

(A) -3, 4 D)

(D)

The zeroea of the polynomial x? + %x -2 arc

A) 3,4 (B)

L

q
(€ -3

oo

(D)

[ Aoft 10,7, 4, ... #1 30 4} 9% =y &

]
L ST
Wis

:
2
4,

(S][R)
(ATR-N

nonc of these

(A)  -55 (B) -66
ey -77 (D) 81
The 30th term of the AP, 10,7, 4, ... iscqual to -
(A) -55 (B) -66
€ -77 (D) 81
Z]‘F( lan0=-l% ﬁ. al coscc( ?mtn'r‘ri'

17 '8

.zm 8 (B) 17

15 ' 17
(C) 17 (D) 15
If tan0 = T8§ then the value of cosec i

17 | 8
(A) r (B) 17

1S 17
(C) 17 (?} 1
1 ¥ 100 7 T rFa et w5 A &
(A) 4050 - (Bf 5050
(C) 6050 _ (D) 7050
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The sum of all natural numbers from 1 to 100 is

(A] 4050 (B) 5050
(C) 6050 (D) 7050 .
a1, QW x, y 9 FEF TR ax+ by +c =0 & fEmd afirmes wat wm £ 7
Ay 1 B) 2
_LCJ I (D) T ¥ H 7@

How many maximum solutions of the lincar equation ax+by+c=0 are

possible in two variables x, y ?
Ay 1 (B) 2

(C)  Infinitely many (D) nonec of these

42, WIS OON1,4.7, 10, .. B RA-AITZ 88 € ?

A 26 . (B) 27

(€ 30 (D) 35

Which term of thc A.P. 1,4, 7, 10, ...is 88 ?

(A) 26 B) 27

(C) 30 (D) 35

43. fag (-3,-5)FFa R 5 f@me ?

W) TETE B) fedla
sef " (D) TG IR

In which quadrant does the point (- 3,~35) Iic:?

(A) Ist quadrant (B) 2nd quadrant
(C)  3rd quadrant (D)  4th quadrant

44. 2cos?60° & TH 4

(A) (B)

B L

l.
3
(o _- o
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Value of 2con? e in

|
(A k) ()

f—

€ 1 D)

A x?-3x410 B x3+3x-10
(€ x?*-3x-10 (D) i it 8

In the following which is the quadratic polynomial whose sum of zeros is 3 an/

Nl

product is - 10 ?
(A) x?-3x+10 (B) x?+3x-10

(C) x? - 3x-10 (D) nonc of these

6. Pt & 2 w.ah i, o v A e 76 6 WA 2

2 S
A3 B 05
(C 07 | (D) 15%
Which of the following numbers cannot be the probability of an event ?
2
'] -05
A 3 (B) |
C) 07 ' (D) 15%

a7. mﬁaﬁmﬁmmﬁﬁmmmmmmm ?

o1 B 2
© 4 . o wARwE

The HCF of the smallest composite number and smallest prime number is
(A) 1 B) 2 |

c) 4 (D) none of these
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8.k I &1 A, B A | em &, @) ST 4 mm 28w g A
AR &) ward ¥
100 ‘
(A) —';.-—* cm (B) _2;'5. cm
(C) 100x cm (D) 10000 cm
A wire of 4 mm diamcter is made by pulling a metallic cube whose side is | cm.
The length of the wire is
A 199 o . B 22 cm
X n
(C) 100k cm (D) 10000 cm
49, 1+tan®0 =
Ay sec? 0 (B) cosec?0
(C) tan?0 (D) cot? 0
s0. dfk & wuww fnpdl @ @ yenel F 3 : 4 ® AW R, @ I oRE w
39 &
AT 3:4 B) 4:3
[cx 9:16 D) 16:9
If the corresponding sides of two similar triangles are in the ratio of 3 : 4, then
the ratio of their perimeters is
(A)  3:4 B) 4:3
(C) 9:16 (D) 16:9
51. U GHAR Y ABC &I T P 12 cm g, o 3w Farg &
(A]  6Y2 cm © (B) 63 cm
(€) 3J6 cm (D) 646 cm
One of the sides of an cquilateral triangle ABCis 12 cm, then its height is
(A)  6y2 cm (B) 6V3 cm |
(€) 3/6 cm (D) 6{6- cm
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52. q&ﬂm 31-—9-5”6:-2!;-1: *E’ﬁ!ﬁ‘”"a*ﬁ

A} kep B) ke« 0O
If the CQuations 3x-y=5 and 6x-2y=k hlh'.' no solution, then
A} k=p M k=0
() k#10 (D) k=-10
S A 00 ¢ o#) T ™ 60r & TR wm @ IgA gl 0 W R ) 4
&g &
A 100m (B)  100y2 m
) 200
75‘ m M 200m

The length of the stnng of a lgte fing at a height of 100 m from the ground and
angle of clevation 60° 44

(A} 100m M 10042 m
2
(€) 'j.:'? m ™ 200m

54, uﬂtacmﬁmuﬂmwwﬁﬂdnﬂhﬂmwkmwm‘m.
M wedE vty w et b

(A) 2/3 em (B -3'-{1 cm

(€) 343 em D 6cm

If two tangents inclined at an angle of 60° are drawn o & circle of radius 3 cm
then the length of cach tangent is

A)  2¥3 cm ® 21& cm

€ 3V3em M 6cm
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55. 52 aml ® OF T W 3w aw Few, mﬁﬁmwwﬁnmmtl
Wk w1 I IR R ) i faee & 2

L] L . L

(A) 13 (B) %6
] 3

@ 5 O 35

A card is drawn at random from of a well-shuffled deck of S2 cards. What is the
probability of getting a king of black colour ?

A = (B)

|-

13
. 3
(C) %3 (D) 39
56. et d ? #3 coseco & WA K ?

cos( |
(A) sin0 ®) sech
] 0
,_(,g - sin0 ™ coso

Which of the following is equal to cosec® ?

coal |
(Al sin0 - secd
!
© o 52

57. U 2ain0«1,M [Bcot?0+3) ® TR @MW

12 | 15
€ 9 D) 8
If 28in0 = 1, then the value of (3cot? 0 « 3) will be
A 12 B 15
© 9 o 8

(11076 e 1703



58, m*‘mmfmmmt

a1
. ® 1
© o :
(D) 3
The Probability of an impossible event is
1
w L B 1
(C) 0 l
(D) 3
16 EESIEEtD O B I ‘r:l_,( 12 # 7% '“.F"-“-Iﬂ'k ?
(A) 32, V2 2.4
2 ®) -342.
! 2
. - ‘ l - - 5 -
B o FRE

Which of the following are zefoes of x? -2r-127

A -3J2.42 B -3J3, -

32

(C) =3 1 D {th
73.2 > (L3} none of these

60. AW & §qW TG A g R

(A)  9® B) TET
€ =W D) ¥ F FE A

-

The largest chord of a circle is
(A) arc (B) chord

(C) diamecter (D) none of these
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UvY - U / BECTION - B
an?l'ﬂ’ﬂ W7 / 8hort Answer Type Questions
R¥T WY 1#27wngawﬂw#lnﬁ#ﬁm? 18 77T & Fav §1 9/iw gy & Ry

2 %% Fraffia 1 16x2=30 .
Question Nos. 1 to 27 are Short Answer Type. Answer any 15 questions. Each question
cammies 2 marks. 15x2=30

| e Fa @ T SR IO TR ) e 2 o o #) s A w2

v

Three coins are tossed together. Find the probability of getting at least two
hcads.

2] fgumd T x2-2x-8 & ¥R AW HIA - 2
Find the zeroes of the quadratic polynomial x?-2x-8.
_)'L/' fog w1 fF sin? 5° + sin? 85° + sin? 10° + sin® 80° = 2. 2

Prove that sin? 5° + sin? 85° + sin? 10° + 8in? 80° = 2.
4. TF I9 AABC ® WFT BC W p 47 W Wt @ & qun s AB 3 AC H
. WA W FE omnmmﬂmtlma&mhaw LaaBc =

i) | 2
A circle is'touching the side BC of AABC at P and touching AB and AC

produced at Q gnd R respectively. Pfovc that AQ = %{Pprimctcr of AABC).
5, U g % i 1 S A HE a1 F0 9T 25 cm €| 2

Find the area of a quadrant of a circle i if its perimeter 1s 25 cm. |
6. 31Ul B T R Fenl A 2, mﬁmmmaﬁaﬁwﬁmmaﬁi 2

Two dice are thrown logcther. Find the probability of getting even numbers on -
.both dice. '
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8

P
L

9

10.

117 AR 71an0 =4 @, @ (75in0-3cos0)

-

&2 %2 fs (3. 5 uw arefeta i b ;

Mrove thay 3+45 ) is an irrational number.

TR 33 7 i ¢ T 2 - 4 1 = @ W1 T BT

Using quadratic formula find the solution of the equation xX?-4x-1=0.
T TR v D w5 1) R gk Grad am wwd o & A 34 81 I

W I Fan 2

Determine the common difference of an A.P. whose 4th term is 11 and sum ¢
the 5th and 7th terms is 34,

S \ABC ® AD, BCW &4 ¥ fag &% f (AB? + CD?) = (AC? + BD?). 2

Ina \BC, AD s perpendicular to BC, Prove that (AB? +_CD2 ) =(ﬂéz +BD?).

(7sin0 + 3cos0) I A W F 2

If 7tan0 = 4, then find (75in0 - 3cos0)
the value of (75in0 < 3cos0)"

,_)2./rwwmﬁaﬁmﬁa’tﬁga‘uu,-s;mm—z9)&3@#: 2

Find a point on x-axis which is equidistant from the points A (2, -5) and
B(-2,9).

13 xmyﬁwmmﬁuﬁﬁmx yL(7,1)89(3,5)TR(TE & 2

\

Establish a relation between x and Y if the point { x, y ) is equidistant from
(7.1)and(3,5).

87" 3 wensi & wows 23irammaoao 1449 b o @ e 161 %, @ gl

& 7| #i) 2

“The HCF of two numbers is 23 and their LCM is 1449, ll' one number is 161 ‘
then find the other number.
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15, 2R wp mﬂmm a.\'2+bx+c$¥mlﬁ?ﬁ a?+p? WEA AR 2

Il @, arc the zeroes of the quadratic polynomial a.x2+bx+c. then find the

value of a? + p2,
6. gfeTg & fawrm weiftes @1 i @ 272 T 1032 T HoRo FRETE | 2
Using Euclid's division algorithm, find the HCF of 272 and 1032,
17, I NI @ 9 9 Pt foreet A 14 om € 2.
Find the surface area of o hemisphere whose diamcter is 14 cm.-

18, T @ OO T #6 | 2

tan? 60° + 4 sin2 45° + 3sec? 30° + 5cos2 90°
cosec 30%+ scc 60° - cot? 30°

Evaluate the following :

tanZ 60° + 4 sin? 45° + 3sec? 30° + 5¢08290°
cosec30°+ sec60° - cot? 30°

19. W 2x+5y=13m2x+3y-3'ﬁﬂ‘3wmﬁﬁﬁ-l 2

Solve the system of cquations 2x+5y=1 and 2x+3y=3 by cross-

multiplication method.
'20. 0-16 ® gfﬁmﬁaﬂﬁu
Convert O- 16 in the form of -g—

wmﬁﬁuﬁ@ﬁmzumﬁnmﬂﬁmvcmt?ﬁaﬁmﬁ
. | | 2

21,
AT | -
Calculate the volume of a right circular cone whose heig_ht is 24 cm and radius

of the basc is 7 cm.
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22,

237

J}’Sr

26.

_ . e AL 3 fip

AN ABC W qmA Ap 1 AC W w) fem p st g owwn: W
- cm 41
DEN1BC, WEAD = (4x-3) cm, AE = (8x-7)cm, BD = (3% b )

CE = | 5x - : w1 a3 b
(Sx-3)cm, @ x w1 a7 et - uch that

In AABC, D and E are two points on the sides Aff and AC respectively and
~1)cm
DE||BC.1f AD = (4x - 3 ) cm, AE = ( 8x - 7 ) em, BD = (3% 1)

CE= (5x~-3) cm, then find the value of x.

2
fag =% f Mutmmtnnﬂ.
CotA+cot BB

tnA+tan 3
Prove that —L 2202 nb.
c tha ol A s colB tan Atn

UF AABC & M [ A(-3,0), B(S,-2) @ Ci-8,5) £1 50 g b
A &t 2

.Th{‘ vertices of a AABC are A(-3,0), B(5.-2) and C(-8,5)- Find the

centroid of the triangle.

Fefefaa @27 1 agere 7 o 2
Find the mode of the following distribution :
- S 0-20 | 20-40 | 40-60 | 60-80 | 80-10C°| ¥60-120
Class-interval :
TRER 30 36 52 61 38 33
Frequency
FFreferga det &1 ana. g it 2
Find the mcan of the following distribution :
- SR 0-10 |-1020 | 2030 | 30-40 40-50
Class-interval
(AR 7 8 16 9 10
Frequency '

31 HEnH 1 ATH. 1000 § T I @ W SR 256000 & A T A FI1 2
If the sum of two numbers is 1000 and the difference of their squares is
256000. then find the numbers.
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Question Nos 28 10 35 are Long Anawer Type questions. Ansuwer any 4 questions. Ench

m""snﬂﬂ oIrmee 5 mﬂrkﬁ ‘ L 4 5 - 20

28 BTN G 44 2y~ 3 T Ax s 3y =2 W TG AT SR R s

Draw the graph of pair of cquations x ¢ 2y = 3 and 4x+3y=2.

20 E 60 m e aeE & A A e w s g e e g b
T & atw :rgmé;qm&r:;?igﬁ?hhﬁl*!mmmwm
60° ¥ 1 Tt 37 St i it A fawg ) g0 I A 5
Two poles of cqual heights arc standing opposite to cach other on cither side of

the road, which is 60 m wide. From a point between them on the road, the
angles of clevation of the top of the poles arc 30° and 60° respectively. Find the

heights of the poles and the distance of the point from the poles.

30. Frg &1 fmgﬂm‘ﬁmmﬁmﬁ%wﬁﬁfgsﬁaﬁmmwt
&7 § FH A & 5
Prove that the line segment joining the points of contact of two parallel tangents

of the circle passes through the centre of the circle.

31, U 0 §8 g WA 9 @ a9 @ §1- 3R TS 10 km/he w7 6
711, A 30 faa @9g @ 2 92 &0 o 3R AR 10 km/he W T N, 9 IR
faya awa @ 3 92 Afus @) g ER1 a9 ) o gl e & 5

A train travels a distance with cqual speed. If the train had run 10 km/br
faster, it would have taken 2 hours less than the scheduled time and if it had
run 10 km/hr slower, it would have taken 3 hours more than the scheduled

time. Find the distance travelled by the train,
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g wtty _tanA_ | cotA
(I~ cotA) (1-tanA)

=(lstan A ¢ cot A). 5

Prove that —Y2NA_ | cotA
{1 - cot A) (1 -tan A)

»(l+tanA ¢ cot A).

ﬁwmhpﬁhamhomﬁwmwﬂﬂmﬁmﬁt&,
¥ ¥ 60' €, A op W sty Y s

{f the angle between two tangents drawn on a circle with radius a and centre
O from an exterior point Pis 60°, find the length of OP.

P & STER 2 92 R 20 ke R Wl & ol W1 85 SR 282 3 4 km e
FEA b1 T o v S A R e aw wr & 9 I 5

Nisha can swim downstream 20 km in 2 hours and upstream 4 km in 2 hours,

Find her speed of swimming in still water and the speed of the current.
35cm ﬁﬁmm‘cﬁa?faqlmqﬂqzqmmm@&dﬁaqmmmﬁl

5

Draw a circle of radius 3-5 c¢m. Draw two tangents to the circle which are
perpendicular to each other.
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